This report contains the transfers results.

5,589

1,118

Contest Name

Ward 4 - Coldside

Valid Votes

Positions to be Filled

Quota

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Scott AGNEW	Alba Party for independence	141
Naveed ALI	Scottish Conservative and Unionist	444
Heather ANDERSON	Scottish National Party (SNP)	1,737
Jenny BLAIN	Scottish Liberal Democrats	176
Mark FLYNN	Scottish National Party (SNP)	751
Tanya JONES	Scottish Greens - Delivering For Our Community	551
George MCIRVINE	Scottish Labour Party	960
Wayne SCOTT	Scottish Trade Unionist and Socialist Coalition	52
Helen WRIGHT	Scottish Labour Party	777
	Total	5,589

Candidate Heather ANDERSON Elected with 1,737 votes, being in excess of the quota of 1,118

This report contains the transfers results.

Stage 2 - Surplus of Heather ANDERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Scott AGNEW	26	0.35636	9.26536
Transfer to Naveed ALI	6	0.35636	2.13816
Transfer to Jenny BLAIN	9	0.35636	3.20724
Transfer to Mark FLYNN	1,471	0.35636	524.20556
Transfer to Tanya JONES	93	0.35636	33.14148
Transfer to George MCIRVINE	29	0.35636	10.33444
Transfer to Helen WRIGHT	25	0.35636	8.90900
No further preference	77	0.35636	27.43972
Not transferred due to rounding			0.00268
	Total		619.00000

This report contains the transfers results.

Stage 3 - Surplus of Mark FLYNN

5 1			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Scott AGNEW	72	0.12327	8.87544
Transfer to Naveed ALI	11	0.12327	1.35597
Transfer to Jenny BLAIN	19	0.12327	2.34213
Transfer to Tanya JONES	238	0.12327	29.33826
Transfer to George MCIRVINE	61	0.12327	7.51947
Transfer to Wayne SCOTT	23	0.12327	2.83521
Transfer to Helen WRIGHT	64	0.12327	7.88928
Transfer to Scott AGNEW	118	0.04393	5.18374
Transfer to Naveed ALI	24	0.04393	1.05432
Transfer to Jenny BLAIN	46	0.04393	2.02078
Transfer to Tanya JONES	533	0.04393	23.41469
Transfer to George MCIRVINE	113	0.04393	4.96409
Transfer to Wayne SCOTT	22	0.04393	0.96646
Transfer to Helen WRIGHT	88	0.04393	3.86584
No further preference	263	0.12327	32.42001
No further preference	527	0.04393	23.15111
Not transferred due to rounding			0.00876
	T		457.00550

This report contains the transfers results.

Stage 4 - Exclusion of Wayne SCOTT

56.15803

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Scott AGNEW	1	1.00000	1.00000
Transfer to Naveed ALI	2	1.00000	2.00000
Transfer to Jenny BLAIN	2	1.00000	2.00000
Transfer to Tanya JONES	19	1.00000	19.00000
Transfer to George MCIRVINE	5	1.00000	5.00000
Transfer to Helen WRIGHT	14	1.00000	14.00000
Transfer to Scott AGNEW	2	0.12327	0.24654
Transfer to Naveed ALI	1	0.12327	0.12327
Transfer to Tanya JONES	4	0.12327	0.49308
Transfer to George MCIRVINE	1	0.12327	0.12327
Transfer to Helen WRIGHT	4	0.12327	0.49308
Transfer to Scott AGNEW	2	0.04393	0.08786
Transfer to Tanya JONES	5	0.04393	0.21965
Transfer to George MCIRVINE	1	0.04393	0.04393
Transfer to Helen WRIGHT	1	0.04393	0.04393
No further preference	9	1.00000	9.00000
No further preference	1	0.35636	0.35636
No further preference	11	0.12327	1.35597
No further preference	13	0.04393	0.57109
Not transferred due to rounding			0.00000
	Ŧ : I		50.45000

Total 56.15803

This report contains the transfers results.

Stage 5 - Exclusion of Scott AGNEW

165.65894

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Naveed ALI	12	1.00000	12.00000
Transfer to Jenny BLAIN	10	1.00000	10.00000
Transfer to Tanya JONES	35	1.00000	35.00000
Transfer to George MCIRVINE	21	1.00000	21.00000
Transfer to Helen WRIGHT	10	1.00000	10.00000
Transfer to Tanya JONES	13	0.35636	4.63268
Transfer to George MCIRVINE	3	0.35636	1.06908
Transfer to Helen WRIGHT	1	0.35636	0.35636
Transfer to Naveed ALI	3	0.12327	0.36981
Transfer to Jenny BLAIN	2	0.12327	0.24654
Transfer to Tanya JONES	39	0.12327	4.80753
Transfer to George MCIRVINE	5	0.12327	0.61635
Transfer to Helen WRIGHT	1	0.12327	0.12327
Transfer to Naveed ALI	3	0.04393	0.13179
Transfer to Jenny BLAIN	4	0.04393	0.17572
Transfer to Tanya JONES	38	0.04393	1.66934
Transfer to George MCIRVINE	10	0.04393	0.43930
Transfer to Helen WRIGHT	1	0.04393	0.04393
No further preference	54	1.00000	54.00000
No further preference	9	0.35636	3.20724
No further preference	24	0.12327	2.95848
No further preference	64	0.04393	2.81152
Not transferred due to rounding			0.00000
	Total		165 65904

Total 165.65894

This report contains the transfers results.

Stage 6 - Exclusion of Jenny BLAIN

195.99241

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Naveed ALI	21	1.00000	21.00000
Transfer to Tanya JONES	59	1.00000	59.00000
Transfer to George MCIRVINE	33	1.00000	33.00000
Transfer to Helen WRIGHT	31	1.00000	31.00000
Transfer to Naveed ALI	1	0.35636	0.35636
Transfer to Tanya JONES	4	0.35636	1.42544
Transfer to Helen WRIGHT	1	0.35636	0.35636
Transfer to Naveed ALI	4	0.12327	0.49308
Transfer to Tanya JONES	5	0.12327	0.61635
Transfer to George MCIRVINE	1	0.12327	0.12327
Transfer to Naveed ALI	4	0.04393	0.17572
Transfer to Tanya JONES	12	0.04393	0.52716
Transfer to George MCIRVINE	6	0.04393	0.26358
Transfer to Helen WRIGHT	5	0.04393	0.21965
No further preference	44	1.00000	44.00000
No further preference	3	0.35636	1.06908
No further preference	11	0.12327	1.35597
No further preference	23	0.04393	1.01039
Not transferred due to rounding			0.00000
	T		105.000.11

Total 195.99241

This report contains the transfers results.

Stage 7 - Exclusion of Naveed ALI

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tanya JONES	43	1.00000	43.00000
Transfer to George MCIRVINE	110	1.00000	110.00000
Transfer to Helen WRIGHT	83	1.00000	83.00000
Transfer to Tanya JONES	1	0.35636	0.35636
Transfer to Helen WRIGHT	1	0.35636	0.35636
Transfer to Tanya JONES	5	0.12327	0.61635
Transfer to George MCIRVINE	2	0.12327	0.24654
Transfer to Helen WRIGHT	2	0.12327	0.24654
Transfer to Tanya JONES	6	0.04393	0.26358
Transfer to George MCIRVINE	7	0.04393	0.30751
No further preference	243	1.00000	243.00000
No further preference	5	0.35636	1.78180
No further preference	10	0.12327	1.23270
No further preference	18	0.04393	0.79074
Not transferred due to rounding			0.00000
	Total		485.19848

This report contains the transfers results.

Stage 8 - Surplus of George MCIRVINE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tanya JONES	51	0.03207	1.63557
Transfer to Helen WRIGHT	844	0.03207	27.06708
Transfer to Tanya JONES	7	0.01143	0.08001
Transfer to Helen WRIGHT	10	0.01143	0.11430
Transfer to Tanya JONES	6	0.00395	0.02370
Transfer to Helen WRIGHT	27	0.00395	0.10665
Transfer to Tanya JONES	8	0.00140	0.01120
Transfer to Helen WRIGHT	87	0.00140	0.12180
No further preference	234	0.03207	7.50438
No further preference	15	0.01143	0.17145
No further preference	37	0.00395	0.14615
No further preference	42	0.00140	0.05880
Not transferred due to rounding			0.00974
	Total		37.05083

This report contains the transfers results.

Stage 9 - Exclusion of Tanya JONES

810.27243

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Helen WRIGHT	297	1.00000	297.00000
Transfer to Helen WRIGHT	27	0.35636	9.62172
Transfer to Helen WRIGHT	100	0.12327	12.32700
Transfer to Helen WRIGHT	185	0.04393	8.12705
Transfer to Helen WRIGHT	24	0.03207	0.76968
Transfer to Helen WRIGHT	3	0.01143	0.03429
Transfer to Helen WRIGHT	4	0.00395	0.01580
Transfer to Helen WRIGHT	4	0.00140	0.00560
No further preference	410	1.00000	410.00000
No further preference	84	0.35636	29.93424
No further preference	191	0.12327	23.54457
No further preference	409	0.04393	17.96737
No further preference	27	0.03207	0.86589
No further preference	4	0.01143	0.04572
No further preference	2	0.00395	0.00790
No further preference	4	0.00140	0.00560
Not transferred due to rounding			0.00000
	Total		810.27243

Report Name: Transfers_V0001_Ward-4---Coldside_06052022_161450.pdf Created: 06-5-2022 16:14:50